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DICTATION

Listen to the following passage. Altogether the passage will be read to you four times.
During the first reading , which will be read at normal speed , listen and try to understund
the meaning. For the second and third readings, the passage will be read sentence by
sentence , or phrase by phrase, with intervals of 15 to 20 seconds. The last reading will be
read at normal speed again and during this time you should check your work. You will then

be given 2 minutes to check through your work once more.

CONVERSATION

In this Section, you will hear seven short conversations between two speakers. At the
end of each conversation you will be given 10 seconds to answer each of the following seven

questions.

1. Between getting up and her meeting, the woman had about
A. 6 hours. B. 40 minutes. C. 4 hours. D. 30 minutes,

2. The conversation probably took place in
A. Rome, B. Paris. C. London. D. Madrid.

3. What does the woman mean?
A. She hasn’t read the passage. B. She doesn’t understand it either,
C. She cannot read it in darkness. D. She suggests that the man read it.

4. What does the woman mean?
A. The job is advertised in English,
B. The advertisement is in an English paper.
C. She offers the man English and computer skills.
D. English and computer skills are essential for the job.

5. Vincent solved his problem by
A. going directly to the boss. B. talking to his parents.



C. asking his mother to speak to his boss.  D. telling his boss’ mother about it.

6. What had the woman assumed? _
A. They had received a broken computer. B. She knew how to repair the computer.

C. The computer couldn’t be fixed. D. They’d have to buy another one,

7. The couple had previously planned to .
A. go boating. B. play golf. C. go cycling, D. play tennis,

NEWS BROADCAST

Question 8 is based on the following news. At the end of the news ztem, you wzll be

given 10 seconds to answer the question.

8. What are the attitudes of the local residents?
A. They protested against detaining boat people.
B. They protested against letting them stay forever.
C. They urged Vietnam to accept the boat people.
D. They urged Britain to accept the boat people.

Questions 9 and 10 are based on the following news. At the end of the news item ’ ;you

will be given 20 seconds to answer the two questions.

9. NATO troops will join in _
A. Cold War, B. training exercises,
C. Western armies. : D. Eastern armies.

10. Soldiers from countries will participate.
A. 17 B. 30 C. 13 D, 43

Questions 11 to 13 are based on the following news. Al the end of the news item , you

will be given 30 seconds to answer the three questions.

11. Who sponsored the conference on population?
A. Cairo, B. The United Nations.
C. The World Bank. D. The World Health Organization.

12. The current rate of annual increase in the world population is about
A. 9 million. B. 5.7 million.
C. 90 million. ‘ * D. 20 million.

13. Which of the following concerning the document is NOT true?
A. The document will cover the next two decades.



B. The document will win support from the delegates.
C. The document will serve as a guideline,
D. The document will be completed after the conference.,

Questions 14 to 16 are based on the following news. At the end of the news item, you

will be given 30 seconds to answer the three questions.

14, The news item reported a(n)
A. air crash. B. traffic accident,

C. lorry crash. D. ferry accident.

15. It was reported to have occurred
A. inside Manila’s port. B. in Singapore.
C. near the Manila Bay. D. in Malaysia.

16. There were people on board.
A. 30 B. 400 C. 110 D. 120
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DICTATION

Listen to the following passage. Altogether the passage will be read to you four times.
During the first reading s which will be read at normal speed , listen and try to understand
the meaning. For the second and third readings, the passage will be read sentence by
sentence, or phrase by phrase, with intervals of 15 to 20 seconds. The last reading will be
read at normal speed again and during this time you should check your work. You will then

be given 2 minutes to check through your work once more.

COVERSATION

In this Section , you will hear nine short conversations between two speakers. At the end
of each conversation you will be given 10 seconds to answer each of the Sfollowing nine

questions.

1. Who is the caller? .
A. John Smith, B. Max Thomas. -C. Max Green. D. John Thomas.

2. The conversation takes place between
A. a host and a guest. B. two neighbours.

C. a doctor and a patient. D. a hotel clerk and a guest,

3. What did the man do last weekend?



A. He went skiing.
C. He did nothing.

4., What do you guess they’ll do?
A. Go to the class at once.
C. Skip over the work.

5. James is"going to
A. buy a car.
C. go to the party.

6. The man advised the woman to
A. find her way around.
C. remember her culture.

7. The woman is supposed to be a(n)
A. shop assistant,
C. interviewer.

8. What did the woman do this morning?

A. She had the cooker changed.
C. She bought a new cooker.

9. The woman intends to
A, offer the man a lift,

C. borrow the man’s car.

NEWS BROADCAST

. He studied.
. He did shopping.

. Make it in the dorm,
. Find out the assignment,

. stay at home,
. solve the problem.

. enjoy herself thoroughly.
. see the differences.

. job applicant,

. receptionist.

. She had her cooker repaired.

. She returned her new cooker.

. g0 with the man by bus.
. check if he has a car.

Question 10 is based on the following news. At the end of the news item, you will be

given 10 seconds to answer the question.

Now listen to the news.

10. Which of the following statements is TRUE?

A. Heavy rains and stofms caused rivers to overflow.

B. Flooding forced evacuation in seven counties.

C. Flooding damaged homes and cut off electricity.

D. Heavy rains and flooding kept banks closed.

Question 11 is based on the following news. At the end of the news item, you will be

given 10 seconds to answer the question.
Now listen to the news.



11. Who is going to make a visit?
A. The Iranian Foreign Minister. B. The Iraqgi Foreign Minister,
D. A senior Iranian advisor.

C. A senior Iragi advisor.
Questions 12 and 13 are based on the following news. At the end of the news item, you
will be given 20 seconds to answer the questions.

Now listen to the news.

12. The Senate bill aims to ____ within the next seven years.
A. end the country’s huge public debts. :
B. cut government spendings on health.
C. end the large budget deficit.
D. cut some educational programmes.

13. Congressional leaders have to work out a compromise because
A. a similar bill has been passed.
B. the President might oppose the plan.
C. the Senate bill was passed by 57 to 42.
D. the White House is facing opposition.

Question 14 is based on the following news. At the end of the news item , you will be

given 10 seconds to answer the question.
Now listen to the news.

14. Australia reacted towards the French test by
A. recalling her ambassador to Paris.
B. describing the test as insignificant.
C. expressing her regret,
D. expressing disapproval.

Question 15 is based on the following news. At the end of the news item, you will be
given 10 seconds to answer the question.
Now listen to the news.

15. The Indian police were reported to have discovered
A. a large amount of money. B. a large plastic bomb.
C. similar explosives. D. the bodies of many victims,

Questions 16 and 17 are based on the following news. At the end of the news item , you
will be given 20 seconds to answer the questions.

Now listen to the news.

16. The 6-day negotiations between the PLO and Israel are mainly about



A. the extension of Palestinian self-rule.
B. the establishment of Jewish settlement.
C. the arrangement of P1.O troops.

D. the reconstruction of Hebron.

17. What progress has been made in their negotiations?
A. Israeli troops can stay on in the West Bank.
B. Israel has released thousands of prisoners.
C. PLO and Israel have made a final agreement,
D. Agreement has been reached on the future of Hebron.
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DICTATION

Listen to the following passage. Altogether the passage will be read to you four times.
During the first reading , which will be read at normal speed , listen and try to understand
the meaning. For the second and third readings, the passage will be read sentence by
sentence , or phrase by phrase, with intervals of 15 to 20 seconds. The last reading will be
read at normal speed again and during this time you should check your work. You will then

be given 2 minutes to check through your work once more.

CONVERSATION

In this Section, you will hear eight short conversations between two speakers. At the
end of each conversation you will be given 10 seconds to answer each of the following eight

questions.

1. Mark refused to take the job because
A. the working hours were not suitable. B. the job was not well paid.
C. he had to do a lot of traveling, D. the job was quite difficult.

2. What do they think about the restaurant?
A. The service there is not good. B. The food might not be good.
C. The waiter is not hospitable, D. The restaurant is too small.

3. Which language does Mary speak well?
A. Chinese. B. French.
C. Japanese. D. English.

4. The woman believes that John
A. was playing a joke. B. was leaving Boston.
C. was moving to Boston. D. was selling his house himself.



5. The woman should have arrived by
A. 10.:45. B. 10.40.
C. 10:55. : D. 11.00.

6. What do we learn from the conversation?
A. John is not sick. B. John is feeling better.

C. Jack hasn’t been sick. D. Jack has not got better.

7. The tone of the man is that of
A. surprise, B. sarcasm.

C. disappointment. D. humor.

8. The two speakers are probably __
A. in a parking ground.
B. at a ferry-crossing.
C. in a traffic jam.
D. at a petrol station.

NEWS BROADCAST

Questions 9 and 10 are based on the following news. At the end of the news item, you
will be given 20 seconds to answer the questions.

Now listen to the news.

9. Some Haitians are on strike in order to
A. get proper medical treatment.

ask for their political rights.

protest against the US decision.

demand food supply aid from USA.

oo

10. The strikers are denied entry into the US because
A. AIDS virus has been found among them.
B. they can not get political asylum in the US,
C. the US government has refused to take them.
D. they don’t accept proper medical treatment.

Question 11 is based on the following news. At the end of the news item , you will be
given 10 seconds to answer the question.

Now listen to the news.

11. The US auto-makers decided to stop their action because
A. Japanese auto-makers promised to stop dumping cars in the US.
B. the Government promised to solve the US-Japan tradc imbalance.



C. three US companies have ended the US-Japan trade imbalance.
D. Japan agreed to sell cars at the agreed prices inside the US.

Questions 12 and 13 are based on the following news. Atthe end of the news item, you
will be given 20 seconds to answer the questions.

Now listen to the news.
12. Where did the storms first strike?
A. The eastern US. B. The Gulf of Mexico.

C. The Canadian border. D. Some areas in Cuba.

13. The storms have, resulted in the following EXCEPT

A. death and damage. B. disruption of air services.
C. destruction of crops. D. relocation of people.

Question 14 is based on the following news. At the end of the news item, you will be
given 10 seconds to answer the question.

Now listen to the news.

14. According to the news, France was strongly criticized for
A. conducting five nuclear tests on Wednesday.
B. carrying out a series of nuclear tests in the Pacific.
C. getting disappointing results in the nuclear program.
D. refusing to sign a global treaty banning nuclear tests

Questions 15 is based on the following news. At the end of the news item , you will be
given 10 seconds to answer the question.

Now listen to the news.

15. The news item is mainly about
A. air traffic problems. B. safety improvement.
C. the number of flights. D. flight training courses.

Questions 16 and 17 are based on the following news. At the end of the news item, you
will be given 20 seconds to answer the questions.

Now listen to the news.

16. What is the purpose of the meeting in Luxembourg?
A. To control patrol boats on the River Danube.
B. To end economic sanctions against Serbia.
C. To step up economic sanctions against Serbia.

D. To send police officers to search the river.



17. International efforts against Serbia have been ineffective because
ships carrying illegal supplies still sail along the river.

more illegal goods hive been carried over land.

local authorities didn’t attempt to stop illegal goods.

there has been disagreement over economic sanctions.

ooxE»
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DICTATION

Listen to the following passage. Altogether the passage will be read to you four times.
During the first reading , which will be read at normal speed , listen and try to understand
the meaning. For the second and third readings, the passage will be read sentence by
sentence , or phrase by phrase, with intervals of 15 to 20 seconds. The last reading will be
read at normal speed again and during this time you should check your work. You will then

be given 2 minutes to check through your wark once more.

CONVERSATION

In this Section, you will hear eight short conversations between two speakers, At the

end of each conversation you will be given 10 seconds to answer each of the following eight

questions.

1. What’s the probable relationship between the two speakers?
A. Teacher and student, B. Doctor and patient.
C. Lawyer and client. D. Boss and secretary.

2. What is the weather usually like in November?
A. Hotter than the present weather.
B. More humid than the present weather.
C. Drier than the present weather.
D. Cooler than the present weather.

3. What conclusion can we draw from this conversation?
A. Public buses are fast and cheap.
B. Parking is becoming a big problem.
C. Subway trains are even safer than taxis,

D. Taxis are more convenient than buses.

4, What are the two speakers talking about?
A. Fixing the woman’s computer,
B. Ordering some new parts by Friday.



C. Getting the new parts ready by Friday.
D. Sending the woman’s computer for repair.

5. What can we learn from the conversation?
A, Neither of them has a favourable opinion of the service.
B. The woman is having a terrible time serving in the restaurant.
C. Both agree its time for the restaurant to fire some staff,
D. The man thinks the restaurant is all right, but the woman doesn’t.

6. Who will pay for the call?
A, The man, "
B. The operator.
C. The man’s sister.
D. The man and his sister.

7. What does the man think of the woman’s choice of clothing?
He thinks her choice is good.

He thinks her choice is terrible,

He doesn’t like the colour.

He doesn’t like the style.

DoE >

8. What happened to Mr. Hunt’s project?
A. It was fairly successful.
B. cIt was hard and futile,
C. It failed for lack of fund.
D. Tt stopped for lack of land.

NEWS BROADCAST

Question 9 is based on the following news. At the end of the news item, you will be
given 10 seconds to answer the question.

Now listen to the news.

9. According to the news, NATO and Russia
A. have finalized a charter on their new relationship.
B. still have differences in military and political issues.
C. will hold a fifth round of talks in Luxembourg.
D. made no progress in this round of talks.

Questions 10 and 11 are based on the following news. At the end of the news item , you

will be given 20 seconds to answer the two questions.

Now listen to the news.

10



10.

11.

people were killed during the air crash,
A. 61 B. 51 C. 41 D. 10
According to the news, the plane crashed

shortly before it landed.
minutes after it took off,
after it cleared the mountains.

Tow»

at the foot of the mountains.

Questions 12 and 13 are based on the following news. Atthe end of the news item, you

will be given 20 seconds to answer the two questions.

12.

13.

Now listen to the news.

Which of the following is NOT listed as a terrorist group by the US?
A. The pro-Iranian Hezbollah. .

B. The Palestinian group Hamasf.

C. The Irish Republican Army.

D. The Basque separatist group ETA.

The affected groups will be prevented from
A. entering the United States legally.

B. freezing US financial assets abroad.

C. receiving support from other countries.
D. giving weapons to other terrorist groups.

Question 14 is based on the following news. At the end of the news item , you will be

given 10 seconds to answer the question.

Now listen to the news.

14. Israeli Prime Minister Benjamin Netanyahu

A. has been prosecuted by the Justice Ministry.
B. may be prosecuted by the Justice Ministry.
C. has been prosecuted by the police.

"D. will be prosecuted on Monday.

Questions 15 and 16 are based on the following news. At the end of the news item, you

will be given 20 seconds to answer the two questions.

15,

Now listen to the news.

The winners of the reported elections are
A. the left-wing Conservatives.
B. the left-wing Socialists.
11



C. the centre-right Conservatives,

D). the centre-right Socialists.

16. If the left secures the parliamentary majority,
A. Chirac will share his presidential power with Jospin.
B. Jospin will share his prime ministerial power with Chirac.
(. Jospin will become prime minister, and Chirac will remain.

D. Jospin will become prime minister, and Chirac will resign.
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DICTATION

Listen to the following passage. Altogether the passage will be read to you four times.
During the first reading , which will be read at normal speed , listen and try to understand
the meaning. For the second and third readings, the passage will be read sentence by
sentence, or phrase by phrase, with intervals of 15 to 20 seconds. The last reading will be
read at normal speed again and during this time you should check your work. You will then

be given 2 minutes to check through your work once more.

CONVERSATION

In this Section, you will hear nine short conversations between two speakers. At the end

of each conversation you will be given 10 seconds to answer the question.
1. What are they mainly talking about?
A. Graduation date. B. Vacation plans,

C. School courses. D. Job hunting.

2. The conversation probably takes place in

A. a library. B. a bookstore,
C. the classroom. D. a department store.

3. The relationship between the two speakers is probably L
A, man and wife. B. lawyer and client.

C. customer arid waitress, D. colleagues.

4. We can infer from the conversation that the man is a(n)
A. plumber. B. construction worker,
C. office boy. D. porter,

5. What will the man probably do next?
A. Turn off the tape recorder. B. Turn up the tape recorder.
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